AP CaLcurLus AB Homework 0327
DR. PAUL L. BAILEY Friday, March 27, 2020

Problem 1. Use the fact that exp and log are injective to solve these problems. That is, if expa = expb,
then a = b, and if loga = logb, then a = b.

a) Find all z € R such that 72" —4z+1 — 4972,
(a)

(b) Find all € R such that In(z + 1) + In(z + 2) = In(z + 3).

Problem 2. Solve the initial value problem

dy _

. 322 —4  where y(2) = 5.



Problem 3. Let f and g be functions that are differentiable everywhere, such that g is the inverse function
1
of f. Suppose that g(—2) =5 and f/'(5) = bt Find ¢'(-2).

Problem 4. Compute

/Sec?ydy
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